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Ll K DCA-13USY DCA-25UST2 DCA-60USI2 SDGB0AS-3A6 SDG150AS-3A6

# o 3 — K 01101 01200 01450 01450 01950

HoH A XEE B2R H2R H2R $2R g2K

B EXRETE BBEEE BRBEES BEEE BBEEE BBERE

A & # () 50 60 50 60 50 60 50 60 50 60

9= H 73 (kVA) 105 13 20 25 50 60 50 60 125 150

\8/;42 & E (V) 200 220 200 220 200 220 200 220 200 220

it & 7 (A) 30.3 34.1 57.7 65.6 144 157 144 157 361 394

o |H 73 (kVA) 6.1 75 - - - - 50 60 125 150

E

2 ;3% E £ (V)| 100/200 110/220 - - - - 400 440 400 440

%%K E & (A)| 30.3x2/30.3 | 34.1x2/34.1 - - - - 722 78.7 180 197
H 73 (vA) 3 33 6 6.6 15 16.6 15 165 20 22

E S E (V) 100 110 100 110 100 110 100 110 100 110

i.'ﬁj; BAETF (KVAX{E) = = 3.0x1 3.3x1 7.5%2 8.3x2 7.5%2 8.25%2 10.0x2 11.0x2
astoh (KVAXTE) 1.5%2 1.65x2 1.5%4 1.65%4 1.5x2 1.65%2 1.5%4 1.65%4 1.5%2 1.65%2

» 5| o - R i =g
EREA kW) 1.5 13.9 19.1 235 485 57.4 48.1 57.4 118 140
EAREEEE (min) 1,500 1,800 1,500 1,800 1,500 1,800 1,500 1,800 1,500 1,800

I

j S # il il 23 il [23:1]

>
BH2IRE (8) 70 92 170 170 265
BRAHEE (o/h) [1.612.3 [2.0]2.9 [25]32 [29]3.9 [4.7187 [6.018.3 [6.018.6 [7.51105 [14.7119.4 [17.7124.3

; RXEXE (mm) 1,380X790x1,130 1,400X790x1,350 2,050%950%1,450 2,080x1,000%1,640 3,200%1,200x1,630

é ZIR[ERIEE ke 655[735] 773[870] 1,330[1,510] 1,370[1,725] 2,590[2,850]

BX & & (7TmdB(A)) 52 52 52 55 55

EENT-LAJL (LwA dB) 78 79 82 83 88
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F£ L <&, http://www.hsk-rental.co.jp/ & Z&L 72 &,

@HIAT - KERUTE (NOT &) DIBE

EER RERAEKW)=ERHEEEN (kW)X#1.2—1.8
BB REHRBE W) =EREEEH KW)x#2.1—2.8
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